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B.Sc. DEGREE EXAMINATION, NOVEMBER 2020.
Second and Fourth Semester
Mathematics
Allied — INFERENTIAL STATISTICS
Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)

Answer ALL the questions.

1. Define Point Estimation.

auenrwm : Lyerefl SO,
2. What is an unbiased estimation?

DeppwiHm HLISE erenmTed ereimes?
3. What are moments?

H UGS et HLISTL (B eremmTed eresmen?
4, Define Interval Estimation.

auepyw : GenLGouaf dSEH.



10.

What is Hypothesis?

D) LOTEITLD GTGITMITED GTGITEHT ?

Define a critical region.

auenrwm : e sLLLILGE.

Write the test statistics for testing the single
proportion in Large Sample Test.

Qupiisan Gsrgemeanuie o Nfss Cergamanssrer
Fofl)l HCTENGU GT(LPG).

State the critical values for 1% and 5% level of
significance in the case of Large Sample Test.
QLI(mBIgam) Cargemauied 1% LHOILD 5%
P psHusgeuwl Lsar  Steysl L wHlLsemar
(PG

Write the test statistics of ¢-test in case of testing
single mean.

t-Cargananuiler syraflenws CargenenGaliujb GCargeaner
Fall) SIATENGU GT(LPS).

Define F-Test.

auenywm : F-Cargene.
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11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing (a) or (b).

(a)

(b)

(a)

(b)

(a)

If T is an unbiased estimator for 6, show that
T? is a biased estimator for 02.

T eremug) 0-eer Genpwimm wHIH ereafld T2
GTETLIG) 0°-n AenpuwjenLw AHLSTH erend sm(H.
Or

State Cramer-Rao inequality and give its
use.

Slymoi-grey Fwafledlanis Pl DFem Lwmers
&(HS.

State any five properties of ML Estimators.
BUQu@p Hlewssss LA g gCsabd Bbg)
LIGTOTL| SENETE o).

Or
Obtain the estimator of the parameter ‘p’ of

the Binomial population using the method of
moments.

‘D ereand Sjere | QETaRT FFHmILIL] LiFeuedlen
LSS g e HBLLSSH e (WPermuled STars.

Explain Type I and Type Ii errors.
PS® cUens WHMID QTETLD euemns Yenpseaner
oNlemd@s.

Or
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14.

15.

(b)

(a)

(b)

(a)

(b)

Write the statement of Neymann-Pearson
Lemma.

CrLoer-Gwirever CHHMEMNS 6T (LS.

Write the testing procedure of single mean in
Large Sample Test.

CQummigam Corgenanuier srrefleow Carsenen
Q&b NSlLpenmSEaT 6T (LS)I5.

Or

Random samples of 400 men and 60 women
were asked whether they would like to have
a fly-over near their residence. 200 men and
325 women were in favour of it. Test the
equality of proportion of men and women in
the proposal.

sBIGET  Ggulmlider  omdled  Gbumed
sl (euens el DTSemT erer 400 oy aTaET
wHmid 600 CQuedrseflb ey BLSSILL L Sled
200 oeamsEpDd 325 CuearsErd  eSlmULLD
QsflefggieTereant.  @Q&HMHESHD  ,ETSHEHD
Quems@Epd  Fwaillgsder o drereryT  eren
Cargenan Q&1

Explain ¢-Test for difference of means.

gyrefsert e csSlwimgmnisener Cargene
Qeteugnsrer t-GCargamaran adlemése,Lb.
Or

Explain y2 test for the independence of
attributes.

vanrsafler grmderenwenw GCergenar Gawiujb Xz
Cargemanenis elemdse] .
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16.

17.

18.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

State and prove Rao-Blackwell theorem.

rreu-err&eucd Canmeens gl Hlemdl.

Obtain the ML Estimator of

-1 (xi—/l)z
e 0 , when x4 and o

2_ 1
f(x’,uao-)_a\/%

are known.

2 1 2w Lo g
f(x, 1,0 )=me -&& M WLOMID o -6

ooy QzsfuybCurg BLAQUEm Hswssss wHISH
STEHTS.

Explain :

(a) Simple and Composite Hypothesis.

(b) Level of Significance.

(¢) Power of a test.

cHleT&H @ :

(1) eraflw LHMID SlEHEOTET Gy LOTEUTHIFHET

(<) SUisTa oL L b

(@) Gsrsmandd Smer.
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19.

20.

A random sample of 10 boys has the following
1Q’s :

70, 120, 110, 101, 88, 83, 95, 98, 107, 100. Do
theses data support the assumption of a
population mean IQ of 100?

geaurliL wemuiled CambshidEsiul L wrdflsearmer
10 evuwennasefler mewrantile)s Hmer 70, 120, 110, 101,
88, 83, 95, 98, 107, 100 erem o crerg. @
epuIweseifl 6o PPENLDS Qgr@dluder gyrail
pamarhosdmer 100 ereyud  yemetlefoursens
USMNEEMST cTew < rmiis.
In 120 throws of a single die, the following data is
observed :
Number : 1 2 3 4 5 6
Frequency: 30 25 18 10 22 15
Can you say that the die is unbiased?
e useL 120 werm 2 BLlLliin@b GCurg Spssem
clleurmiseT SlenL_sgen :
GTEHT 1 2 3 4 5 6
BlapCeienr: 30 25 18 10 22 15

useL LADPEFSLIDDS) GTET 2_GITETTE FaM(LPlgUL{LOT?
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